The number of customers arriving at a shopping centre in an one hour interval is N ~ Poisson(20). Assume that the probability of
customer making a purchase is 0.4, and that choice of purchase of customers is independent. Let X be the number of customers who
are making a purchase.
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3) Choose correct options for values taken by the joint distribution of X and V.
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4) Find the distribution of X .
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Let X ~ Uniform({1, 2}) and let Y be the number of aces obtained from a deck of well shuffled 52 cards in X draws (with replacement)

5) Choose the correct statements from the following: 1 point
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v Rangeof (Y|X =2) =0,1,2.
O Rangeof (Y|X =1)=0,1,2.
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6) Identify the joint PMF of X and Y from the following:
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